9 — 4 w5t AENRHEGSHEIE gAs8ayPyShiaiif

B RE D =¢,6 E = B | G5 BMREN D

A IR B 6 07 )BSD dS =) Q,




9 — 4 w5t AENRHEGSHEIE gAs8ayPyShiaiif

[ D=P+g,E mmhm)

A RE <

ammEseE $D-dS =3 Q,

B A% & =&)&
KR Ak, FEL 7 T 55 c'=P,

C=¢C, E=E,/¢c. 59

HNhFEHER DD E>U




9 — 4 wfaf AENRHEGSHEIE ZrdidydegShfaim
Bl AR AR & =3 AT IBHER

B IEAEFED = Imm AT B 28 25 B 3 AR AR 2 [
TN BT, AR A ZE 7 1000V . sk P Al b 8]
B RN RS B, AR P, SRR H )
)ﬁEI’JEﬂﬁ R A RN KA D

W E, = L— 11(())(2?\7111 =10°V-m™' =10°kV-m™

E Eo/g =3.33x10°kV-m™’
P=(¢g,-1)g,E=5.89x10"C-m™
o, =&E, =8.85x10°C-m™

o'=P=5.89x10°C-m™
D=¢,ecE=¢E,=0,=885x10°C-m™




9 — 4 wiaH H A G

2 —FAT>
é’JE IR
B S
EHT—'}
I L

*ﬁmﬁﬁ O

i (L) £Ij .dS = 0,5,

D=0,
D

6‘0 grl
D

80 gr2

O
0
El

80 grl
O

E2
80 ‘9r2

27 € 22

y, PIAT L S

ERIARALH

FENFHLY T R w R

AR AR AR R RS d R d
AT AR A E M E
K(1) HEBRPIHA,

Wﬁ
Q)émﬁimﬁ

11

- &= [Ex_



9 — 4 w5t AENRHEGSHEIE gAs8ayPyShiaiif

D o}
-~ _ _ 0
El_gg Y + ++O+-O+
< 0%rl 0<rl '
D o

gOgr2 gOng
U=|E-dl =Ed, +E,d,
_ Q (dl _I_d2)
&S & &,

C — & _ gOgrlgr2S

U ¢.d,+¢&.0d,




9 — 4 B A EAF T ST

>

g \H bﬂ}f

% AFH Y T )T B AR

20 R KK
ﬁ@&

IRZEN € 1Y
1 AmT 7 %mh+ﬁ
FH h*ﬁ*ﬂ 3

LAAS, &
12 H R v SRR
\HZW%UﬁﬁE
mﬁuﬁﬁLmE
11 ] F
RN AR
RS E RS

R FETE E

nﬁ@%ﬁﬂ%
RIS U NSRS 7N
R B SRR R
M—A . K () H
PR
s

L. F
IR AL, EEL B

)l S

(2) H
(3) it

\H%E




9 — 4 w5t AENRHEGSHEIE gAs8ayPyShiaiif

(1) 368[3 .dS = Al

A
D2nrl=Al D=—
2 r
- P __ A4 (R <r<R))
Eo8, 2MEET
P = (¢ —1)e,E="1
r " 2mer



9 — 4 w5t AENRHEGSHEIE gAs8ayPyShiaiif

(2) MEETH  E-—7  (r=R)
2 2n ¢,&.R,
D A
E g - _ A (r =R )
5 r E, 2
£oE; L &yé, 21 gogrRzl

- '— E —1 E E = (& _1
) Gl ( r ) 01 ( r )275er1
- o, '= -De.E, =(e. -1
o, =(& - ek, = (¢, )27t ¢ R,
= — <>




9 — 4 w5t AENRHEGSHEIE gAs8ayPyShiaiif




